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1.
(A) (B)
(C) (D)

2.

(A)
(B)

(C)

(D)
3.

1. 2.
3. 4.

(A) 1 2
(B) 1 3
(C) 2 4
(D) 3 4

4.

(A)
(B)
(C)
(D)

5.
(A) 1
(B) 5
(C) 14
(D) 15

6.

(A) (B)
(C) (D)

7.
(A)
(B)
(C)
(D)

8.

(A)
(B)
(C)
(D)

9.

(A) (B)
(C) (D)

10.

(A)
(B)
(C)
(D)

11. 59

(A)
(B)
(C)
(D)

12.
(A)
(B)
(C)
(D)

13.

(A)
(B)

(C)
(D)

14.

(A)
(B)
(C)
(D)

15.

(A) 20 000
(B) 10 000
(C) 1 000
(D)

16.

(A)
(B)
(C)
(D)

17.

(A) 1920
(B) 1918
(C) 1919
(D) 1921

18. 1866 

(A)
(B)
(C)
(D)

19.

(A)
(B)
(C)
(D)

20.

(A) (B)
(C) (D)

21.   ax2 + bx + c = 0 

  
   
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(A)
 

(B)
 

(C)
 

(D)
 

22. 32
256 

(A) 24, 8 (B) 20, 12
(C) 27, 5 (D) 16, 16

23. 2x – 3y + 4z = 6 

(A)
1
29 (B)

4
29

(C)
3
29 (D)

6
29

24.

(A) 0 (B)
1

36

(C)
1
6 (D)

1
3

25. 6 34 

(A) 18 (B) 30
(C) 24 (D) 20

26. ‘x’ ` ‘d’  
y 

(A) `
xy
d (B) `

yd
x

(C) ` (yd) (D) ` (xd)

27. 6 3
6 

(A) 0 (B) 3
(C) 2 (D) 1

28.
(LCM) (HCF) 

72 6 

(A) 6 (B) 12
(C) 18 (D) 24

29. X, Y Z ` 4,480 
X 4 Y 

6 Z 8 
5 : 6 : 7 X 

(A) ` 800 (B) ` 1,200
(C) ` 2,400 (D) ` 3,000

30. 7 
11 

9
12:30 

(A) 9:50 
(B) 9:56 
(C) 10:02 
(D) 10:08 

31. 24 14 9 
4 (1/3)

(A) 4.5 (B) 5 
(C) 3.5 (D) 4 

32. ABC A+B = 90º 

(A) sin A = sin B
(B) sin A = –sinB
(C) sin A =  cos B
(D) sin A = –cos B

33. p q
p (p + q)
(A) p + q (B) p – q
(C) pq (D)

34. 30 
58.5 

75
57 

(A) 51.9 (B) 59.1
(C) 20.9 (D) 28.9

35. 6, 10 12 
10%, 12% 

15% 3

(A) 2 : 3 : 4 (B) 3 : 4 : 6
(C) 4 : 6 : 2 (D) 6 : 3 : 2

36.

(A)

(B)
(C)
(D)

37.

4, 25, 121, ?, 529, 961
(A) 289 (B) 256
(C) 324 (D) 361

38. ‘GUM’ ‘49441169’

‘WAX’
(A) 2891400 (B) 8412525
(C) 5291576 (D) 3611121

39.

1.
2.

I.
II.
III.
(A) II III 
(B) I 
(C) II 
(D) I III 

40.

(A) DVR (B) GMF
(C) HFE (D) OVG

41.

1. 2.
3. 4.
5. 6.
(A) 4-6-2-5-1-3 (B) 1-4-6-2-3-5
(C) 4-6-2-5-3-1 (D) 1-4-6-2-5-3

42.

32 ÷ 6 + 26 – 13 × 6 = 54
(A) 3  6
(B) 2  3
(C) 6  2
(D) 3  1

43.
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10 3 14
49 15 68

33 19 ?

(A) 27 (B) 25
(C) 28 (D) 29

44. A + B  ‘B, A ’;
A – B  ‘A, B ’;
A × B  ‘B, A ’;
A ÷ B  ‘B, A ’.

, E ÷ F – H + J × G + D, D, H 
 ?

(A) (B)
(C) (D)

45.

‘@’

@ !
*

* &@ <
& #

(A) & (B) #
(C) ! (D) <

46.

?1 5
9

15

(A) (B) 125

(C)

39
(D)

21

47.

(A) (B)
(C) (D)

48. 11
27

(A) (B)
(C) (D)

49.

104, 117, 130, 145, 156, 169
(A) 117 (B) 145
(C) 156 (D) 169

50. 15 
20 

25 
20 

(A) 5 (B) 10 
(C) 15 (D) 20 

51.

(A) (B)
(C) (D)

52.
(A) (B)
(C) (D)

53.
(A) (B)
(C) (D)

54.

(A) (B)
(C) (D)

55.

(A) (B)
(C) (D)

56.

(A)
(B)
(C)
(D)

57.

(A)
(B)
(C)
(D)

58.

(A) (B)
(C) (D)

59.
(A)
(B)
(C)
(D)

60.
(A) (B)
(C) (D)

English
Directions (Q. No. 61 to 63)

Read the following passage carefully and
choose the correct answer from the answers
given below each question :

The good book of the hour, then, I do not
speak of the bad ones-is simply the useful or
pleasant talk of some person whom you cannot
otherwise converse with, printed for you. Very
useful often, telling you what you need to
know; very pleasant often, as a sensible friend’s
present talk would be. These bright account of
travels; good-humoured and witty discussions
of question; lively or pathetic story-telling in
the form of novel; firm fact-telling, by the real
agents concerned in the events of passing
history. all these books of the hour, multiplying
among us as education becomes more general,
are peculiar characteristic and possession of
the present age. We ought to be entirely thanful
for them, and entirely ashamed of ourselves if
we make no good use of them. But we make
the worst possible use, if we allow them to
usurp the place of true books : for strictly
speaking, they are not books at all, but merely
letters or newspaper in good print.
61. How, according to the author, is the good

book of the hour very useful ?
(A) Because it gives the information

required by you
(B) Because it is in printed form
(C) Because it gives you pleasure
(D) Because it is in the form of

conversation
62. Which one of the following statements is

not TRUE ?
(A) The books of the hour are

multiplying
(B) They are peculiar characteristic of

the present age
(C) They are true scriptures of their

writers
(D) We must be thankful for them

63. How does the writer define the good book
of the hour ?
(A) The good book of the hour is

informative in nature
(B) It is the useful or pleasant talk of

someone in print
(C) The good book of the hour is mere

communication
(D) The good book of the hour has no

permanent value
64. Synonym of the word ‘Prey’ is—

(A) Victim (B) Violence
(C) Fact (D) Edge

65. Marina discussed ............ matter seri-
ously. Choose the correct word in blank
(..............)
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(A) a (B) an
(C) the (D) also

66. Correctly spelt word is—
(A) Leftenant (B) Leftinent
(C) Leiutenant (D) Lieutenant

67. A piece of land on which fruit trees are
grown is called—
(A) Orchard (B) aviary
(C) gallery (D) boutique

68. A ‘chauffeur’ is a person employed to—
(A) drive a motor car
(B) drive a space craft
(C) Sell medicines
(D) work in a hotel

69. Divide twelve mangoes .............. three
boys. Fill the blank with any one of the
following—
(A) to (B) for
(C) between (D) among

70. Young one of a ‘cow’ is called—
(A) chicken (B) calf
(C) cub (D) kitten

71.

(A) (B)
(C) (D)

72 .................

(A)

(B)
(C)

(D)

73 1789-1794 
...................... 

(A) (B)
(C) (D)

74.

(A) (B)
(C) (D)

75.

(A) (B)
(C) (D)

76.
.............

(A) (B)
(C) (D)

77
% 

(A) 3.25 (B) 2.76
(C) 1.34 (D) 2.58

78
(A)
(B)
(C)
(D)

79.

(A) 2 (B) 3
(C) 4 (D) 1

80.

(A)
(B)
(C)
(D)

81.

(A) 2020 (B) 2019
(C) 2021 (D)

82.
(A)

(B)

(C)

(D)

83.

(A)
(B)
(C)
(D)

84.

(A) (B)
(C) (D)

85.

(A)
(B)
(C)
(D)

86.

(A) (B)
(C) (D)

87.

(A) (B)
(C) (D)

88. -

(A) (B)
(C) (D)

89. - - .............

(A)
(B)
(C)
(D)

90. -

(A)
(B)
(C)
(D)

91.

(A) (B)
(C) (D)

92
(A) (B)
(C) (D)

93.

(A) (B)
(C) (D)

94.

(A) (B)
(C) (D)

95.

(A) (B)

(C) (D)

96.

(A) (B)
(C) (D)
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97.

(A) (B)
(C) (D)

98.
(A) (B)

(C) (D)

99.

(A)
(B)
(C)
(D)

100.

(A)
(B)
(C)
(D)

1. (A) C.P.U.

PIII, P4, AMD Athlon

2. (D)

3. (B)

4. (C)

1931

5. (B) 5 

1972 5 16 

5 1973 

1
5

14

6. (D)

7. (A)

10o 10o

8. (B)

(Niche)

1957 
9. (C)

10. (C)

1973 

1987

11. (D) 2011
59

7 2012

12. (C)
4-9 

250-300 

1 12 

13. (B)

66 61

14. (A) 108

118

15. (A)
20000 
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16. (D)

17. (C) (1919) 

1919 

18. (A)
1866 

1892-95 

19. (C)

1.
2.
3.
4.

20. (C)
43%

18.5% 15% 

21. (A) ax2 + bx + c = 0   

 +  = ...(i)

 = ...(ii)

( – )2 = ( + )2 – 4   

= 

( – )2 = ...(iii)


  

   
= 


  
 

 

= 
       

 

=  

= 
 

22. (D) 
16 + 16 = 32 16 × 16 = 256

(D) 
23. (D) 2x – 3y + 4z = 6

P =  
2 2 2

d
a b c

 

= 
2 22

6

2 3 4

= 6
4 9 16

= 6
29

24. (B)  = 2
 

= 
1 1
6 6  = 

1
36

25. (D) 6 34 5

10, 15, 20, 25, 30

= 
10 15 20 25 30

5

= = 20

26. (B)  x  ` d

 1  ` 
d
x

 y  ` 
yd
x

27. (B) = 9

9 ÷  6 = 1 × 6 + 3 [ ]
29

6
= 

81
6

= 13 × 6 + 3 [ ]
28. (C)   A × B = LCM × HCF

AB =72 ...(1)

A – B = 6 ....(2)
 (A + B)2 = (A – B)2 + 4AB

A + B = 2(6) 4 72

= 36 288

= 324
= 18

29. (A) X, Y, Z 
= 4 : 6 : 8
= 2 : 3 : 4

5x, 6x  7x  
2 × 5x + 3 × 6x + 4 × 7x = 4480

56x  = 4480
x = 80
  X = 10x

= 10 × 80 = ̀  800
30. (B) A, 7 

B, 11 

A = x 
B = y 

= d 
7 t 

d = tx + (t – 2) y ....(1)
A 4 

  d  = 4x x = 4
d

...(2)

B 3.5

 d  = 3.5y  y = 3.5
d

...(3)

(1), (2)  (3) 

          d = 
( 2)

4 3.5
td t d

         1 = 
2

4 3.5
t t

7t  + 8 (t – 2) = 28

15t  = 44  t = 
44
15  = 

442
15  

= 2 56 
= (7 + 2) 
56 

= 9 56 9 : 56 am 
31. (D) = (24 × 14 × h) 

= 
19 4
3  = 12 
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  24 × 14  × h  = 12

                  h  = 
12

24 14  

                   h = 
1200

24 14
h  = 3.57  4 

32. (C)    A + 
B = 90° – A or A = 90° – B
sin A = sin (90 –  B)
sin A = cos B

33. (D) Tp = q  a + (p – 1)d = q ...(i)
Tq = p  a + (q – 1)d = p ...(ii)

(i) (ii) 

(p – q)d = q – p
 d = – 1

a = p + q – 1
 Tp + q = a + (p + q – 1)d

Tp + q = (p + q – 1)
– (p + q – 1) = 0

34. (B) 30 
= 58.5 × 30 = 1755
 

=  
1755 75 57

30

= 
1755 18

30  = 59.1

35. (D) I1 = 1 1P 6 10 60P
100 100

I2 = 2 2P 10 12 120 P
100 100

I3 = 3 3P 12 15 180 P
100 100

160P
100 = 32 180P120P

100 100

P1 = 2P2 = 3P3

P1 = 2P
1
2

 = 3P
1
3

k

P1 = k, P2 = 3
1 1, P
2 3

k k

P1 : P2 : P3 = 
1 1: :
2 3

k k k

= 6 : 3 : 2

36. (A)

37. (A) 4 25 121 289 529 961
     
22 52 112 172 232 312

38. (C)

39. (C)

I. ( × )
II. ()
III. ( × )

II 

40. (C) D
4

V
22

R
18

+22

G
7

M
13

F
6

+13

41. (D) 1. Micron ( ) = 10–6 

2. Metre ( ) = 1 

3. Mile ( ) = 1600 
4. Millimetre ( ) = 10–3 

5. Kilometre ( ) = 103 

6. Centimetre ( ) = 10–2 

1 – 4 – 6 – 2 – 5 – 3

42. (C)
(iii) 6 2 
36 ÷ 2 + 62 – 13 × 2
18 + 62 – 26
62 – 8
= 54 R.H.S

43. (C) 10    3    14
    49   15    68
    33   19  ?
(10 – 3) × 2 = 14
(49 – 15) × 2 = 68
(33 – 19) × 2 = 28

? = 28
44. (B) E ÷ F – H + J × G + D

[+ – ]
D, H 

45. (B) @ !
*

* &@ <
& #

& @ *
  
& # <
@ # 

46. (D) 1 5 9

+4 +4 +6 +6

15 21

(D)
47. (D) = 

> 
> >

> > > =

48. (A) 11 27 
= 16 

= 
16
7

= 2 
+ 2 = 

49. (B)

104 117 130 145 156 169

+13 +13 +13 +13 +13

143
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145 
130 + 13 = 143 

50. (B)
15 10

20

25

20

AB

C D

E

AE = EB – AB
      = 25 – 15 ( EB = DC)
      = 10 

10 

51. (B)

52. (A)

53. (A)

= 
54. (D)

55. (B)

56. (C)

57. (B)

58. (A)

59. (C)

60. (B)

English
61. (A) According to the author, the good of

the hour is very useful to us because
it gives the information as per our
requirements. So, option (A) is
correct.

62. (C) They are true scriptures (
) of their writers.

63. (B) It is the useful or pleasant talk of
someone in print. See the first
sentence of the passage.

64. (A) ‘Prey’ (n) 
synonym - victim 
word meaning Violence (n) 
fact (n) – edge (n) 

65. (C) ‘The’
(definite article) 

66. (D) Lieutenant (n) 
spelling 

67. (A) words of group 
orchard  (n) 

68. (A) ‘chauffeur’ (n) (is
employed to drive a motar car)

69. (D) ‘Among’ 

70. (B) Calf 

 71. (A) 





72 (C) 24 1739

- -

73 (A) 1789-1794 

(1761) 

74. (C) 

75. (B) 

45

-

76. (C)

77 (C) 1.34 
44,212

1.34%

78 (B) 1354

79. (A) 


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

220

 46

2 1971

21
1975

  80. (D) 

1946 1948
17

1955
-

1963
81. (B)  2019 ,

22
,

42



,

82. (B) 

14
1976 23 1977

14 1995
18 2000

19 2000 1 2004

83 (C) 



, ,



, 





84. (D)

 85. (A) 

86. (D) 

` 115
87. (B) 

20 2011

88. (D) 



2019



2010

2014



1992
1993

1992

89. (C)  - -





9 1970 
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90. (C) 

`

91. (D) 

 1 1979 

92 (D)

93. (B)

1843

94. (A)

95. (A) 

 28 2016 

18

2017 

96. (C) 





2009 

97. (A)

98. (B)

99. (A) 





48

100. (C)  27 2018
DGCA

2019
100

26 2021




